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Leela has appeared in an examination which
follows multiple choice guestions, each having
five poasible answers, The probability that she
knows an answer is 0-75, If she does not know
an answer, she will guess, with the

conditional prohebility % N —
The conditional probability that Leela knows

the angwer, given that ghe gives the correct
answer, is

(el 0256
{B)  O-B0
e} 090
dy 0894

Consider a sequence of Bernoulli trials with
probability of guccess % for each trial, Let X
denote the lengih of run of either succosses or

failures starting with the first trial. Then the
value of E(X) is

(a) 2
(b) 25
ey 3
(dy a5

The probability that a death occurs due to
heart failure is 0-45 and the probability that a
death occurs due to cancer is (122

Consider the following statements ;

1.  The probability that the death is either
due to heart failure op due to cancer
is (+67.

2.  The probability that the death is due to
some other cause (but not these two)

is (55,
Which of the statements ig/are corroet 7
fa} 1only
(h} 2aonly

icl Bothland2
idy MNeither 1 nor 2

Let X, a continuous random variable, follow
U0, 1) distribution. Then, we assert that

L PX=z02T) =073

2. P0O2T<X<127)=0-T73

Which of the above assertions isfare correct 7
{a) 1only

(b} 2 only

(e} Both1and 2

(d) Neither 1 ner 2

Let X be the number of phone calls received at
& call centre during business hours and Y be
the number of calls received outside business
hours, on a particular day. Assume that X
and Y are independent, and follow the
Poisson distribution with means &, and 25
respectively, where A, # Ay, Then the
conditional distribution of X, given the total
number of calls received that day (ie., X + Y,

is

fa) Binomial

(b} Poisscn

(cr  Discrete Uniform

id) Negative Binomial
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1

P{B}:%—mﬂ.ﬁ'h ﬂE]-:%E.Than congider
the following :

1. HKAnB)=

b= ]

2. PANB)=

- 1
‘3. P{BIA]I'ﬁ

Which of the above statements are correct ?
{a) 1and2only
(b} 2and 3 only
(¢} 1and3only

(d) 1,2and3

Consider a game where the player tosses a
six-sided die. If the face that comes up is 6,
the player wins ¥ 36, otherwise he loses T k°,
where k i3 the fora that ecomes up
(k=12 3,4, 5). What amount in rupees can
the playver expect to win at this gameif the die

is fair ?

a} —

b} -—-—
3

3] 3

d -

b3 | o

10.

[ R T

A man buys 10 bulbs, each with independent
exponentially distributed lifetimes with the
game mean, with the intention of using one
bulb 2t a time and replacing it with another
as soon as it fails. The distribution of the total
duration of the 10 bulbs taken together is

{a) Exponential
(b} Normal

(c) Beta

(dl Gamma

In a continuous distribution, the probability

density function i= given by
{ynxm - !’;

D<x=<2

otherwise

fix)=

where y, is a constant,
Its first moment about the origin is given by
a)j 1

b 2
fc'l! 3
(d) 4
Let X and ¥ be independent random

variables, each having the uniform
distribution an [- 1, 2]. Then Var(X + Y) is
equal to

&

fa)

(b)

el

z

i

2

4
(dy @
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12,

13.

false
{(d}) Statement [ is false but Statement II is
true
STT-5-KJTY [4-

CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

In an examination, marks obtained by
the students in Physics, Mathematics and
Statistica denoted by X, Y and Z are
normally distributed with mean 60, 52 and
48 respectively and with standard deviation
15, 12 and 16 respectively, The diatribution of
X+¥+2)is

{a} N(350, 53)
(b}  Ni55, 350
(e)  IN(150, 625)
(dy N(625, 150)

A drunkard takes a forward step with
probability p and s bhackward step with
probability q. After taking 11 steps, the
probability that he is one step away from the
gtarting point is

(&) pﬁ - qa
h) 2 (ps + qﬁi
(e) 462p%°
(d) 462 (pg)

Consider n independent Poisson variables
X, X Xy 0K with paramebers
:’..l, 12, Jl.ﬁ‘ ade] ln mpﬂc‘.i\‘ﬁl}r l.l:ld
En=]{1+3.g+x:’+-n+xt‘
Staternent [ :
8, has a Poisson distribution with parameter
o
E lj.
=1
Staternent IT :

n
F et
The mgfof S, iz &'=!

Which one of the following i ecorreci in
respect of the above statements ?
(a) Both Statement | and Statement II are
true and Statement Il is the correct
explanation of Statement [
Both Statement I and Statement II are
true but Statement I1 15 not the correct
explanation of Statement [
fe]  Statement I is true but Statement 1T is

(b)

14,

15.

A)

If the distribution function of a random
variahle X is given by Fix)=gsin x, where

Dcx-c-%,thenthapmhnhﬂitydm:ity

funetion at x = % haa the value

{a) %
(b} -\:?*
(e) f}i
(&) %

If X and Y are independent identically
distributed N(0, o°) random variables, then
which of the following are correct ?

2 2
% follows a Chissquare

0
distribution with 2 degrees of freedom.

B

1.8 % follows a standard Cauchy
diztribution,
X + 3¢

2
o
distribution with 2 degrees of freedom.

4o (X -Y) and (X + Y) are independent,

follows a Chi-square

Select the correct answer using the code given
below :

(a) 1and2only
tb) 2,3 and 4 only
fe} 1,2and4only
id) 1and4only
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16. Player A writes a '+' sign on & magic slate.

17.

The slate is then passed on to players B, C
and D in succession, each of whom may rub
the slate and change the sign to *— with

probability -E before passing the slate to the

next person. [} hands the slate to the referee.
The probability that the referee zees a ‘+' sign
is

(a) %
(b) %
) ;—g
(d) .—;:{

For a random veriable X, PX = 0) = 1 —kig
and P(X = + 1)= B =—1) = — where kis
7

a constant greater than 1. Then which vne of

the following is correet ?

(a) P(|X|2ka)< =
Kk

: 1
(b) P |X|zko)m= % 3

(i) I=L[1:.:=:|a]»m]ﬂ—iE
k

(di PFi|X-1]|zka)= .

18, For the sequence (X} of independent random

variahles the following are defined :

POl =29 =2+ pg wO)m1-278

Which of the following are no# correct ?
1. Weak law of large numhbers holds

because E(X )=0 and lim B—E=0
n—+=n
where B, = Var z Xl
i=1

- Weal law of large numbers holds by
Khinchin's theorem because E(Xy) is
finite,

a. Jeak law of large numbers holds since
X are identieally distributed.

Select the correct answer uging the code given
below :

fa) 2 and 3 only

(b} 1 andZ2only
fcy 1and3only
d) 1, 2and3

Let X and Y he twe random variables. Which
one of the following conditions is sufficient for
the relation VarfX = ¥) = VanX) + Var(Y) to
hold 7

fal X, Y are statistically independent

() X, Y areé identically distributed

) K=Y

(d) ForanyXand¥

Suppose U and V are independently and

uniformly distributed on the interval (0, 1)
Then the distribution of max(lf, V) is

{a) Beta(l, 1)
(b} Betal2, 2)
{e)  Beta{l, 2)
id} Betal2, 1)

www.examrace.com



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

Consider the following for the next three (03)
items ;

The distribution of marks

obtained by

500 candidates in a Statistics paper in a certain
examination is as follows :

21.

Marks more than | Number of Candidates
0 500 |
10 460 I
20 400 ;
30 200 |
40 100 |
) 30
If 60% of the candidates pass the paper, then

the minimum marks obtained by a pass
candidate is

(a) 20

(b} 25

(el 30

{d) 35

The value of semi-interguartile range ig
{a) 426

by B125

fe) 16-25

(d) 325

The value of mode of frequency distribution is
(a) 2313

{b) 2443

{c) 25-83

id) 26-13

Z4. In s series of 2n obzervations, half of them

25.

equal to k and the remaining half equal
to -k, If the standard deviation of the
observations is 2, then |k| is equal to

{a] 2
by 2
{e) ~2—
n
T
n

™ cri, cr: and g° are the variances of X, ¥

x -y
and X—Y respectively, then what is the

coefficient of eorrelation between X and Y ?

> 2
ol =9 %=

L

2 2 2
- 6’ + -::ry —
2ayo,

¥

For a distribution of 10 observations,
calculations showed that the first two
moments about the origin are 3 and 46
respectively. It was however discovered that
the observation 12 was wrongly written as 22,
Then the correct value of mean and variance
are respectively

fat 2,132
(b} 2,8
(€) 4,12
(d) 4,8
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Given that x, and x; are two independent

observations drawn from a normal population
P, and y, and y, are another two independent

observations drawn from a second normal
population Py. In order that Z = {ﬂiﬂ;
(¥1 - ¥1a)

follows F-distribution with (1, 1) degrees of
freedom, which one of the following must be

true 7

(a}) P, hasNip, uf}nm:l Py has Niu,, ﬁ%)

(b) Py has N(0, of yand Pghas Ny, of)

(¢) Py hasNiug; 'of yand P, has Nijg, o)

(d) P, has Nipg, o) and P, has Niuy, o)

What is the  probability that the
sample median baseéd on a randem sample
of size 3, drawn from a distribution with pdf

2% DcxE <]
exceeds
| 0 otherwise

fix)= ?

B |

(a)

(b)

i)

{d}

28,

' A 1

m‘

Conzider the following statements ;

1. If Fin;, ng} represents an F variate
with n; and n; degrees of freedom, then

T 1

Fing,, n;} is distributed as Ff_lh:ﬂ_:el
variate,
then n,F follows t-distribution with n,
degreea of freedom.

8. If a statistic t follows Student’s
tadistribution with n degrees of freedom,
then t% follows F-distribution with (1, n)
deprees of freedom.

Which of the ahove statements are correct 7

(a) 1and2only
(by 2 and3 only
(e) 1and$only
fd)  1,2and3

A confinuous random wvariable X has the
density function

3 x<8fo 8> 0
figh = ?l— lex= r some 8 >
0 otherwise

Then the ratio of the mode to the median for
the distribution is

(a) 27V
(b 2V38

8
{E." FF
(d)
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Consider the following statements on the use

of F-distribution ;

1. It iz used to test the equality of
variances of two normal populations.

2. It iz used to test the eguality of
variances of several normal populations.

3. It is used to test for the egquality of
means of several normal populations
with identical variance,

4. It is used to test for the independence of
twa attributes in a contingency tables

Which of the above statements are coreect 7
(a)
(k)
{c} 1and4only

(d) 1,3and4only

1 and 3 only
2 and 3 only

Suppose for a given data, the linear,
parabolic, power fungtion and exponential
models fitted by the prineiple of least squares
respectively are given below :

M; : Y =377 + 0-92X

M : Y = 1:21 + 040X + 0-04%°

Mg: Y =258K "

M, : Y = 26407 020K

If for any model, ‘;', denotes the estimated

value of ¥; and Z Y, - ;‘; )* computed for
i

the models M;, My, My and My are 1987,

573, 481 and 11-58 respectively, then which
one of the following shall be taken as the beat
possible estimate of Y for X = 16 ?

(&)
(b)
(e)
(d)

18-49
17-85
10-32
718

(8-

3.

Al

If X;, Xq, X3 and X, are four uncorrelated
variables each with variance o, then what is
coefficient

and

the walue of the correlation
between Us X+ X; + X,

VaX, + X+ X, 7
tay O

(b)

2 oo

(e}

—

id}

Given that X, ¥ and Z = X + 2Y are variables
puch that Var(Xi=4, Var(Y)=3 and
Var(Z) = 4,

Consider the following statements in respect
of the above @

1.  The covariance between X and Y is - 3.

2. The correlation between X and Y is
a8
7 :

3. . The regression coefficient of ¥ on X is
3

4
4: The covariance hetween X and 2 is - 2,
Which of the above statements are correct 7

(a) 1,2 and3only

(bt 1,3 and 4 only
e} 2 and4only
(d) 1,2,3and4
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85. Suppose X, Y and 7 are independent random

varighles such that X follows a standard

Y and Z follow
Chi-square distribution with n, and n,

normal  distribution;

degrees of freedom respectively.
Consider the following statements in respect

of the above :

1. X? follows Chi-square distribition with

one degree of freedom.

2. ~peeeel follows Student's t-distribution
with ny degreea of freedom.

o IR
ST IT ¥

(ny, ng) degrees of freedom,

follows PF-distribution with

4. Y+ Z follows Cauchy distribution,

Which of the above statements are correct ?

(a} 1,2 and 3 only
(b) 2,3and 4 only
{e) 1and4only
(d) 1,2,3and4

D R d o

36,

a7.

If X follows F(6, 8) distribution, then consider
the following statements :

1.  Mean of X is greater than 1.

2. Median of X is equal to 1.

3. Mode of X lies between 0 and 1.

Which of the above statements are correct 7

(2) Land 2 only
(b)  2and 3 anly
(e Land3 enly
(d 1,2and3

An analysis of monthly wages of workers of

two factories A and B belonging to the same

group gave the following results :
Statistic Factory A | Factory B
Number of workers 50 6D
Average daily wapes T 186 T 175
Variance of wages | 81 100

Then the combined variance is given by

(@) 101-36

{b) 111-36

(e} 121-36

(d) 13136
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38. Chi-sgquare teat can be applied to test the 4l.
1. Goodness of fit
2. Equality of two population variances
3. Independence of attributes
Which of the above are corract ?
{a) 1 and 2 only o
{b) 2 and 3 only
(cl 1and3only
id)y 1,2and3
9
30. Let fix, v) = Ce 2 where
Q = 2x7+ y° 4 2xy /= 22x ~ 14y + 65 be the pdf
of a bivariate normal BN(u,, uo. a7, ,p) | 48,
distribution. Then p = Corr'X, Y) is |
fa) 1 ’
by =1
1
1
dl -—
=
44.
40. Let (X.Y) be a bivanate mormal
BN[L 2,16, 25, %] then EXX|Y="7) 18
fa) 1
h 2
c) 4
a1
{d} 18
STT-5-KJTY (10— A)
10
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The polynomial of least degree interpolation
of the data (0, 4), (1, 5), (2, 8B), (3, 13} is

{a) 4
by 3
(c) 2
d 1

If g =2, %) =3 and x3 = 6 and fxg) = 1,
flx;) = 2 and fix,) = 6, then the approximate

value of fl4) using Lagrange’s interpolation
formula is

{a) 566
(h) 466
(el 366
(d) 266

If h is the increment in the variable x, then

:
[%] x2 i8 equal to

fa) 2h

(b)  2h*

¢} 2h’

(d) None af the above

Coneider the following statements :

1. Lagranges interpolation formula is
applicable only when arguments are

‘equispaced,

2. 'The sum of Lagrangean coefficients is
unity,

Which of the above statements is/are correct ?

fal lonly

(b) 2only

{c) Bothland2

(d) MNeither 1 nor 2
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Consider the following statements

1, Simpson's one-third rule follows from
Romberg's method withn = 2,

2.  Weddle’s rule follows from Romberg's
method with n = 4.

Which of the above statements isfare correct ?
(a)
(b}
{c)
{d)

1 only

2 pnly
Both 1 and 2

Meither 1 nor 2

Conzider the following :

X 0 1 2 3 4
fix) 4] 1 8 25 556

The estimation of f5) using Newton-Gregory
interpolation is

) T
(b)
{e)
(d)

876
a5
115

What is the function whose firgt difference is

gx? + 11x + 5 with interval of difference equal
to1?
(a) x°+ 2x°—x + constant
(b) 2 3x® 4 x + constant
(e} ax’ e x4 x4 constant

(d) Ox? & 20x* + Bx + constant

49,

(11—-4)

11

. Consider the {following

48, What is the value of

A% ({1 —x) (1 - 2x) (1 - 3x)]
with interval of difference equal to 17

tal =36
by —12
ey O
d 6

2

The errap in  evaluating ng dx using

1
Simpson's one-third rule by dividing the
interval (1, 2) inte four equal parts is

fa) 0
(b) 15
(c) 152
d) 1

statements for
numerical golution of first order differential
equalions :

1. Eulers method is slow for large
x-increment and inaccurate for small
®-inerement.

2. Modified Euler's method has an error of
order h%,

3. Picard's method is an iterative method.

Which of the above statements is/are correct 7

{a) 1and3 only
{(b) 2 and 3 only
{e) 1and?2only
{d} 3 only
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E 1 a g 4 average operator, 4 is the forward difference
fix) 46 66 81 99 operator and ¥ is the backward difference

operator, then A + V equals to
The value of f{8-5) using Newton's Backward

Difference Interpolation formula is {a) %
(a) 86-L5 ) p+d
(b) 87:25 © 28
(cy BB-2H - (dy - b
(d) B925

56. ‘What is £(3) + A2) + A*F(1) + A1) equal to ?
(Take the interval of differencing to be unity)
52. Let the factorial polynomial be (a) £(4)
fix) = x4 2x® _ g% 4 9 When the interval of

i . (b) _Afld)
differencing ig 1, then mode of f(x) s
P (e} a4
5 d) ATT(4)
thy -2 :
B6. Use Picard's method to eompute y(0-2), correct
(¢) 1 up to two decimal places, where y(x) is the
(d) None of the ahove solution of % =x -¥% vi0) = 1. The value of
yiD-2)is
53. Consider the following statements with (a) 082
standard notation ; by 083
2, Es=el () 086

21_g-1
2 Val-R 87. Milne's method for numerical solution of a

Which of the above are correct ? differential equation is based on
ta) 1and2only (a) Prediction only
th) 2 and 3 oniy (b)  Cerrection only
e} 1land3only (e}  Both predietion and correction
(d}) 1,2and3 {d) Neither on prediction nor on correction
STT-5-H.ITY 12 - A%
12
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8. The sum to 10 terms of the series 61. Consider the following :
1 Break
1 2 3 4
8 16 + ...
T e S el R e g If
3. Do-while
is 4 Continue
2563 : i
fa} = Which of the ahove are jump control
statements ?
m) 256 () 1and4only
S (b). 2 and 3 only
o 509 fe). 1,3 and 4 only
3 {d) 3 and 4 only
512
d o
(d) 3

82. Which one of the following i8 the correct
sequence of stages in problem solving ?

59. A cubic polymomial takes the following {a) Precise formulation, Analysis,
values : Computation of the problem
i a 1 a 3 {b} Designing, Coding, Analysis, Debugging
the program
fix) I =0 a | 10

te) Coding, Precise formulation,
Computation, Debugging the problem

(d}  Coding, Compilation, Designing,

Then fi4) equals to

(a) 6 Debugging and Executing the program
(b) 19

ey 27 63. An operating system is crucial for the
@ 83 operation of a computer system because it

1. controls the hardware of the computer.

_ 2. runs the antivirus software.
60. The iterative formula for the solutién  af

: ) dy Py 8. manages files and directories.
differential egquation e x, ¥, ¥ixg! = ¥ G s Gioogle |
by Euler's method is
Which of the above are the most crucial
funetions of an operating aystem ?
(b)  ¥n41=¥,+hilxg ¥, (a) 1and2only

() ¥,,1=¥s+hilx,v) {b} 2and4only
(¢} 1and3only

dy 1,2, 83and4

(8)  ¥p41=¥o+hilxgyy)

(d} :"‘n1-1=yn+hf{xn'}rn}

STT-8-KJTY (13-A)

13
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What is the decimal equivalent of the | 87,

hezadecimal number FFFE ?

{a} 25535

(b} 32766

(e) 653244

id} 65534

Consider the following statements :

1. A compiler checks the gource code for
gyntax errors and if it is &rror-frée,
creates an ohject ende.

68.

2. Linking means vesolving library
references to embed neeessary routines.

Which of the above statements ia/are correct ?

(a) 1only

(b) 2only

(¢} Bothland2

69,

(d) Neither 1 nor 2

Consider the following statements :

1. A signed or unsigned number with a
decimal point er exponent or beth is
called a real or floating point constant,

2,  The decimal point in a floating point
number is always after the number.

3. The decimal point iz permitted in the
exponent part,

Which of the above statements is/are correct ? | 70.

(a) 1and?Z2only

(b} 2and 3 only

(c) 1only

(d) Zonly

(14-A)
14

Consider the following ;

1. Computer port

2. Modem type

4. Modem speed

4. Modem size

Which of the above factors are important

when  using a modem for data

communication ?

(a) 1and2only

(b} 2 and 3 only

{¢).1 and 3 only

(d) 1 andd only

The size of memory in any system is

decided/caleulated by the

(a) Number of data lines

(b) _ Number of address lines

(e) Number of hits in a single memory
location

fd)  Number of bitain a single word

What is the function of & Firewall ?

1.  To authenticate user before access

2.  To block traffic intended for a particular
IP a-ddreaa_

3 To create “a /wall to
unautherised access for network

Select the correet answer using the code given
below &

prevent

(@) 1and2oenly
(b 2and Jonly
(¢} land3only
) 1,Zand3

Machine language programs are very efficient
becausze

(a) they are easy to develop

(b}  their ohject code iz very small in size

(e} they are directly executed by CPU

(d} they are easily understood |y
programmers
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Consider the following statements in respect
of & mouse :

1, It controls the two-dimensional
movement of the cursor on the displayed
BCTEEN.

2 It is usually of two different types,
mechanical and optical.

3. It can be used as an alternate to the
keyboard for all purposes,

4. Itie an input device,

Which of the above statements are ¢orrect ?
(a) 8and4only

{(b) 1and 4 only

{¢) 1,2and4only

(d} 1,2 and 3 only

Which one of the following hardware
components 18 normally used to accommodate
the secondary cache ?

(a) Motherboard

(b) Processor

(e} RAM

(d) Any secondary storage device

The file manager is responsible for
1. Naming files

2 Saving files

3.  Deleting files

Which of the above are correct 7
{a) 1 and?2 only

{(b) 2and3 only
{¢) 1and3 only
(d) 1,2and8

Td.

76,
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Collecting the data and converting it inta
information is callad

{a) Compiling

(b) Processing

(¢}  Importing

(d) Exporting

SSL in Linux provides

1.  Password protection

2.+ Logging

3.  Becurity

Which of the above is/are correct ?

{a) 1andZenly
{(b) 2and3only
(¢} 8 only

(d) 1,2and3

Consider the following statements :

Statement I:

Intranet is a wide area network that uses
TCPAP protocol and it iz A private network of
an organization,

Statement II :

With advancements in computer security,
eryprography and firewalls, the Internet is
completely secure,

Which one of the following i3 correct in
respect of the above statements ?

{a) Both Statement I and Statement II are

true and Statement II is the correct
explanation of Staternent |

{h) Both Statement I and Statement I are
true but Statement Il is not the correct
explanation of Statement 1

(el Statement | is true but Statement IT is
false

id} Statement I is false but Statement II is
true
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77. 'What is the purpose of the Memory Address | 79.

Register ?

{a) Tostore the address of the next location
in the main memory

(b} To store the address of the next location
in the secondary memory

{e) To store the address of the next location
in the cache memory

(d) To store the address of an output device
to which the data is to be sent

Ml
78. Consider the following statements :

C iz a high level language.

2. Cis an assembly language.

3. A compiler translates a high-level
language program to & machine
lunguage program.

4. An assembler franslates an assembly
language program to a machine
language program.

Which of the above statements are correct 7

(a) 1and3only

(b} 2. 3and4 anly

(e} 3 and4 only

(d} 1.3 and 4 only

STT-S-KJTY (16=A)

Cache memory iz used to transfer data
between the

{a) Main memory and secondary memory
{b) Processor and an input device
{¢) Main memory and processor

{d) Processor and an output device

Consider the following statements
1.  If-then-else is a sequence structure.

2, Bequence structures
decision-making.

require

3.  If-then-else iz a seleetion structure.

4.  In repetition structures, the same set of
statements are executed several times,

5. Do-whileis a type of selection structure.

Which of the above statements are correct ?

(a) 1and2only
(b) 3 and 4 only
{el 1,2 and5 only
{d) 4 and5 only
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SPACE FOR ROUGH WORK

STT-8-KJTY (18-A)
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SPACE FOR ROUGH WORK

STT-S-KJTY (20-A)

20

www.examrace.com



pownLdabRY FRAOR MaxT

e TABSTICS TRIVANDRUM

ng: 81 138873@ﬁ%£mm9t@9mail.coh www.cm$netiss.
¢+ |Series: A Subject STAT PAPER-| [(ONG)
Max..marks 200|No. of Items dropped: 01
items to be taken for scoring: 79 X
1 D16 X | 31| Al4a]| D.|] 61| A.['76 ] C ]
2 B 17 | 8 | 320 Y WE | 62 | ARl TZ. | WA
3 A|l18]| A [ 33| C |48 | A |63| C | 78| D
4 Cl19[ AJ3da| D45 | Al64] D] 79| C.
5 Al20| D|35] A|50| D|65] C |8 ] B
6 B a1 | B. 3D ("W B-| 6B CHN -ijl § |
7 8 |28 B AN C'| W16 | BY PN |
8 Ml 22T e c[63] DL68] W I ]
9 Al24a|B-139]D/|B4] Cl]e63| D2 ,
10 A [Ng5 PB"] 40 [aPSs | ANwod cU~ M\, |
11 C.| 26| B.| 41| Cy| 56 |.C.| 71| C. i
12 “WMDMR7 [T 32 C 157 CaP 725 W% |
13 Al28| cl4l.B.fS8TC |73 D] o] |
14 Bl2s| c|44] B[ 59].D.| 74| B’ BE
15 c |30 B|[45] a1| 60| D | 76| C | .| 4

DOWNLOADED FROM :

WWW.IASEXAMPORTAL;COM

Courtesy:ISSE



pownLdabRH BRAOR MAT HEMALIESE S TAMSTICS TRIVANDRUM

ne: BTT3887 32 4R 1i6He migmt@gma]l.com www|cmsngtiss.
< |Series B Subject |STATPAP|£R~-[T (N &
Max. marks 200(No. of ltems dropped: 01
ltems to be taken for scoring: 79
1 Al|l16| B | 31| D|]4| C |61 ]| B|T76| D
2 c |17 p|32|BJl4a7] A|62| AL7T7] C
3 Bl 18 | C | AR4S |63 |- 8 B B A
4 D|[19| Cc[34] C|49| C 64| C [ 79| A
5 A|l20|B|35] A|5]| B [65| A|[8]|D
6 D21 c |3 | B]51] A 66| C {. v
7 C |[22%mD] 37| B |['62 ] A] 67 [/C ™2 i
8 C | 23 {wAnnd8.| D _Jub8ulnG | 68 § CST™ 4] |
9 D|24| B|39] A |54 DJ]69] D4
10,- 4" C |25 | C.1.40 . A ].55.]. C La#0 [5D-[&- | «
11 Py ML XN NEIPGODP o 7T ' | -
12 Bl2r| Bf42] A |s72|B|72]C|: 7 42
13 Q128 A |43 D168| B | 7348 | r3| »
14 B |29 | A |4 2B [ 89| D 74| B | s[i..
powNLoEbeD [FBu | ; 3dr. PadefBdoiral 88 C | 7540 Ardey Tham




né:

811388732 &w h‘i S "i;l Aetedg Lrai{.wm, WYWWCH i
7 |Series C Subject [STAT PAPER-I |(ONE )
Max. marks 200|No. of Items dropped: 01
Items to be taken for scoring: 79

1 B|16| B[31|]Ccl|4]cCc|[61[C[T76]|C
2 B|l17| B[322] DJ4a7r|B|62]| Af77 | C
3 c|1| D[33| A|48 | B|6e3|[ D|[78] C
4 B|19| A |[34| B|l4 | DJe4| B|79] D
5 Bl20| A[35] Cc |80 ] c|es|] C 8] D
6 B N1 | AJ3BWX "SI C | 66 CN ~i4 &
7 [l C AN B | RWeL6 | AN "I
8 Al 2318 A|63] B[es]| QI 1N
3 Cl24| D39 A |64 BJ69| C [«' ]G
10 B |25 A4 D55 ATzol B[ ] 0
11 D26 D4t Al D]7a] B8 | 7
12 Bl27 [ €. [42 | ATs7 [ Cal72J7A |&& |74
13 N2 | C [Tl A | 73N DT 53 |™ .
14 c D44l D] 69 1cA 74 |2 T 7.
15 A|30%,C | 48/NCE| 609D L6 A | < [\

DOWNLOADED FROM : . IASEXAMPORTAL . COM Courtesy:ISSE




pownLoADED HREM QRAMA THEMATKeR:&S KIS TICS TRIVANDRUM

10ne+8+43887329-049081 7167 TRIHAI FRSORIBBY@0N]al-Co, WWW Cm$netis$.c

Series:D Subject |STAT PAPER- |(ON'E )

Max. marks 200|No. of ltems dropped: |~ .01

ltems to be taken for scoring: 79
1 C |16 | D || B4 Cc 61| C|76]|C
2 D17 [ c 32| BJ4]lc 62| C|77| B
3 Al Cc |33 C 48| C 63| B|78| B
4 B |19 | D (34| B |4 [ D[64| B|79| D
5 cl20| c|35| B[50] D[65] AJ8o| C
6 X [\@1 | D | 36 B [S18). C | 66/ D] ~+
7 B | 220B4i87)] D | 52 | "Auwj67 | G | ~10 [}, |
8 Al 23[,A 38| C[53] DJ68] A |#3] -
3 Alz2sa| C 3| C 54| BJ]69] A [ma] +
10 D |2 A |40 | B |5 | C |70 D["6] " |
11 A |26 B 41| B8] C |71 [ Alas]| @
12 C VN | Bapd2 | A |57 LA AAAF 7 | L )
13 Cl28| D|4a3| D |88 D [73][ €| 40 [."\
14 D 29| A44 ]| C | 59| C 74| D t'___: o
15 A 30 A |465] 2460 BJ75] C| /|~ ]!

DOWNLOADED

FROM : WWW.IASEXAMPORTAL.COM

Courtesy:ISSE

SR O, T S

T



